
 

8420 

HONDA CBR1000RR 
2004–2007 

REVERSE SHIFTING 
Part Nr. 6100 

 

82547 

8400 

818170 

M6 x 25 DIN7380 
+ 816R + M6 DIN985 

 

 

M8 x 30 DIN7991 

+ 123220608 

M8 x 20 DIN7991 

M5 x 10 DIN7380 

BD16 

 877 

 872W 

M8 x 50 DIN6921 
+ 807 

M8 x 30 DIN6921 
+ 807 

M6 x 12 DIN7991 

M8 x 40 DIN6921 

M6 x 40 DIN7380 

+ 817 + 123121806 

+ M6 DIN934 
+LOCTITE ! 

 

813RM 

813LB 

M6 x 25 DIN7991 

 MAIN PLATE  736R+L 

 
 

810R 


